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SIHEE 20134
Oll&tXt= @ =48 2 3
SIHTZE © HASAI|EeERED |2
OPN=EINEF

S M)

> ! A & Xl E A g
& = =g o J|1HH = & g = N J| &M = &

& Hl 1,677,879 1,708, 144 N30,265 | & Hl 1,677,879 1,708, 144 30,265
il 600,000 600,000 0| HISXHI AL 196, 189 196, 189 0
BEx=3 0 0 0| SAHEAIZHI 0 0 0
xel= 0 0 0| olE2dy| 0 0 0
ey 0 0 0|J1=H 0 0 0
OE235% 0 0 0|0E2 900,000 900,000 0
NS 1,013,403 1,011,085 2,318 | IXIZ2 581,690 611,955 30,265
Oll==2 0 0 0| e 22ei2as 0 0 0
0| Rt£=2! 64,476 97,059 A32,583 | sil=2I34kE 0 0 0
JlEt==ed 0 0 0|JIEIXIZ 0 0 0
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Ol&tXbe= 0 =F 2 3

ST L HRAEAIIYLEIID
@ ==
(S9l: &)
2282 IR [F T 5 2 S4B
200 M2l 664,476 697,059 A32,583
210 BaEA 2= 46,140 45,309 831
216 Ol Xt==& 46,140 45,309 831
216-01 23030+ 46,140 45,309 831
O Jl= Ulxl= Okt
23 46,140,0002 - J1& 45,
309,000& = 831
220 SAEN 2= 618,336 651,750 A33,414
225 e =220~z 18,336 51,750 N33,414
225-03 I =0l Xt 18,336 51,750 N33,414
O sg&elll=s HE= Olkt
2
Z2& 18,336,000& - JI& 51,
750,000& = A33,414
600 KLU XISl 1,013,403 1,011,085 2,318
630 GlXl=al= 1,013,403 1,011,085 2,318
631 GIXIZ3l= 1,013,403 1,011,085 2,318
631-01 GIXI=&l== 1,013,403 1,011,085 2,318
O 20128 % DIz OXI= &=
Z2& 1,013,403,000& - JI&
1,011,085,000& = 2,318
= 2 g HA 1,677,879 1,708,144 230,265
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SAFE - H=ASAIHEH
@ XNEH=
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=5 - 22 - FH - U9 - HRAEY - BES INE-E E XNEY | HusSZ
NE:DC 1,677,879| 1,708,144 A30,265
ArQY - A Rt 1,677,879| 1,708,144 ~30,265
&S (X 2RIt 1,481,600| 1,511,955 ~30,265
CESNET(GEONE-ES]I 1,481,690| 1,511,955 ~30,265
SFSONES 1,481,690| 1,511,955 ~30,265
602 OIXI2 581,690 611,955 ~30,265
o1 olx= 581,690 611,955 ~30,265
O 20134% 0lIxI2
273 581,690,002 - JIF 611,955,0008!

g 1,677,879| 1,708,144 ~30,265
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SIHTRE @ HASAI LD |2
ce xel
g
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A @ 2 (OIXFZ &) Ol Kk~
20074 DX 8,174,167| 5,000,000 0 0| 3,174,167
2008 &= 523,028 0 0 0 523,028
2009 &= 196,619 0 0 0 196,619
20108 &= 72,359 0 0 72,359
20118 = 527,085 300,000 0 0 207,085
201289 362,729 300,000 0 62,729
20138 &= 664,476 600,000 0 0 64,476
Hl 10,520,463| 6,200,000 0 0| 4,320,463
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AFE ¢ HFASAINEEEI IS

(St &)
TSI

e = ol

"2 e iy JlErs | @O®
2007 DX 3,230,354| 3,230,354 0 0| 4,943,813
20088 784,063 784,063 0 0| 421,03
20094 &= 1,008,506 1,008,506 0 0| A811,887
20109 & 1,311,906| 1,311,906 0 0| A1,239,547
20118 & 812,848 812,848 0 0| A285,763
20129 & 194,907 194,907 0 0 167,822
201349 & 196, 189 196, 189 0 0 468,287
Al 7.538,773| 7,538,773 0 0| 2,981,690
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SIHEE 20134
Oll&tXb= © =8 2 3l
SATE ¢ HEASAIEEEI IS (et =@
_ _ OlIXI 3¢ OfIErd
= OllXI(EH A _ Z - a] ]
201 ST 012ECLHTHU@ | 2013HCLEHHA® = (O26))
S 2,340,964 2,513,403 2,981,690 468,287
OIXI=2 E| 2,340,964 1,013,403 581,690 A431,713
=)= 1,480,337 300,000 0 300,000
FF=2 860,627 713,403 581,690 A131,713
OIE= e | 0 1,500,000 2,400,000 900,000
O==AlSE 0 1,500,000 2,400,000 900,000
ZeJl=s






